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AND PEDAGOGY)

cling the me
9 the most appropriate option

Lo Which of the following theory is ”_”!

related with the theories of rans cr
of learning

() Theory of mental discipline

(1) Theory ol rote memory

(3) Theory ol identical clements

(-h) Theory ol peneralisation

not the

2. Which ol the following IS
hcury U'

other name of Thorndike's t
Connectionism ?

(1) Stimulus response theory
(2) Bond theory of learning
(3) Theory of conditioned response
(4) Trial and Error theory

3. Which of the following is the correct

i ' ‘me ]
logical order of elements of memory

(1) Learning Reeall ~>
Retention > Recognition

(2) Recall ~y- Learning —>
Retention — Reeognition

(3) Learning > Recall -

Recognition —» Retention
(4) Learning - Retention =
Recall — Recognition
4. Which one of the following is not
correct way of releasing pent up
emotional energy ?
~(1) Substitute responses
-(2) Displacement
-(3) Regression
(4) Sclf pity
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Who was the founder of socio-cult
theory of cognitive development 7 e
(1) Jean Paget '

(2) Jerom Bruner

(3) Lev Vygotsky

(4) Kohlberg

Who was the propounder of psycho-
analytical method ?

\/’H) J, 3. Watson

(2) Wilhelm Wundt

(3) Sigmund F'reud

(4) J. M. Cattell

Who stated that "Adolescence is a period

of stress, strain, storm and strife" ?

(1) William . Barton

(2) Stanley Hall

3) I. A Hadfield

(4) Jean Piaget

Which of the following is not the

characteristic of Adolescence ?

(1) Weight of muscles 15 20% of
total weight of body.

(2) Tendency of day
increased.

(3) Vocabulary too Increa

(4) Mental abilities reac
highest level.

dreams

SeS.
h at therr

1g is the nor

Which of the followir
alin

projective technique: ol person
measurement ?

(1) Association technique

(2) Sociometric technique

(3) Construction technique

(4) Completion technique

Which of the following is not e
type of projective technique of
personality measurement ?

(1) Word Association Test

(2) Woodworth's Personal Data Sheet
(3) Senter ‘*C_oinplctio‘h"[’c‘.s’l"//
(4) Thematic Apperception Test

e i Y
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of the following is the fals€

Satement 7

”} .l,cammg is a process not a
l:’foduci.

(2) I.caming
Purposeful.

(3) Area of learning is broader.

(3) Behaviour changes  through
instincts and reflex actions are
2lso considered as learning-

process is always

12. Which of the following is the false
characteristic of motivation ?
(1) In motivation. behaviour of
person is goal oriented. .
(2) Motivated  behaviour  does
continuity.
(3) Nature of motivated behaviour 1s
rigid.
(4) Motivation does energy changes
in human beings
13. Who propounded Brain storming

method for Io:t;nnc and boo:uno
creativity 2~ e

NI )' Torrance

(2) Myres

(3) Osborn

(4) Gordon

The mental activities associated with
thought. decision making, language

and other higher menta) processes is
called :

(1) Visual images

(2) Cognition
N3) Concepts

(4) Propositions
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Which of the following is nof the type
of one of the component content under
three dimensional model of intellee
given by J. I Guilford ?

(1) Figural (2) System

(3) Symbolic (4 pehavioural

g is not the

Which of the followin
rsonality

type of dynamic trait of pe¢
given by Cattell 7
(1) Attitude
(3) Sentiment
0 Stanford-Binct IC
he 1Q rang¢ of lov
d children ?

(2) 3610 51

(4) below 20

(2) Urge
4) Conscrvativc

According 1
scale, what is t
mentally retarde
(1) 5210 67
(3) 2010 35
of the following concept |
Jean Piagel inh
nt theory ?

Which
not introduced by

Cognitive Developme
(1) Assimilation

(2) Accommodation
(3) Symbolic

4) Equilibration

ng is the highe

Which of the followi
theory

level in hierarchical
learning given by Gagne ?
(1) Problem solving learning

(2) Principle learning

(3) Concept learning

(4) Multiple discrimination learnir

For which age group the Childr
Apperception  Test (CAT)
applicable ?

() 2to 5yrs. (2) 0to 4 yrs.
(3) 16 to 18 yrs.(3 3 10 10 yrs
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« Out of e following which or¢ !
the Wrong statement in conteX! ol
characteristics of habits ?

(1) Habit is automatic resp
specific situation.

(2) Habit acquired
heredity.

(3) Habit is a
performance.
(4) Habit is performe

‘similar circumstances.

onsc 10

h
is throug
well  learncd

d only under

not the

f,
characteristic of good mental health *

(1) Emotional maturity

(2) Self confidence
35(3) Intolerance
(4) Capacity of self evaluation
A branch of psychology which
studies how people change physically.
cognitively and socially over the
entirc life span is known as :
(1) Clinical psychology
(2) Counselling psychology
(3) Developmental psychology
(4) Experimental psychology
Which of the following is nor the
innate motive ?
(1) Safety
(3) Thirst
Which of the following is behavioural
perspective of modern psychology ?
(1) Focuses on overt behaviour.

(2) Hunger
(4) Rest

(2) Focuses on cognitive processes.

(3) Focuses on the biological events.
(4) Focuses on critique of male bias

P.T.O.
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26,

1

Which of the following structure ,,
mind  directed  according
[edonistic and pleasurc principle 7”‘
(1) Id (2) Ego

(3) Super Ego  (4) Choleric

Who was the propounder
Anticipatory theory of play ?

(1) Karl Groos

(2) McDougall

(3) Herbert Spencer

(4) G. Stanley Hall

Who developed the first intelligence
test ?

(1) Lavator

(2) Sariguin

(3) Francis Galton

(4) Alfred Binet and Simon

Out of the following which one
the wrong statement in context o

characteristics of instincts ?

(1) Instinct is innate.

(2) Instinct is very powcrful.'

(3) Instinct is cphcmeral.

(4) Instinct 1s psycho-physic:
disposition.

Which one of the following stage |

not prescribed by James Draver |

the context of development ¢

character ? '

(1) The stage of crude emotion

(2) The stage of sentiment

(3) The self regard stage

(4) Conforming conventional stax

B
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46, Scleet the ¢ A —— £
C Correey infinitiye for e .._?A(,.Ur-lg the y
m of B

ﬂ.w given sentenge -
i S}C)c'.';.g 15 hc!icving,
0 5¢e¢ iy ‘
i CE15 10 belieye,
) SEEN 18 1o helie
(3) Tosee is Ay
(4) “lcc-ir IS hchcwng,
: 121510 belieye,
47, Select the corre
41, sl: cetthe correct 1onge form
‘The car (be
¢ a clong) 1o my mother, She
(use) 1t today 1o take Tom 1 .
dentist. e
(1) belonged, is using
(2) belonged, using
(3) belong, used
~_f4) belongs, is using
48. Sclect the correct preposition to fill
in the blank :
They live ........ the same roof.
1) in (2) before
(3) after (4) under

49. Change the voice from Active 1o
Passive. Choose the right option :
We shall  discuss the question
tomorrow in the meeting.
(1) The question will be discussed
tomorrow in the meeting.

(2) We will be discussing  the
question tomorrow  in the
meeting. |

(3) We shall be discussing t.omorrow
the question in the meeting

(4) The question sha.ll discuss
tomorrow in the meeting.

Level-3/321

no
ne n‘l _qp;;.r‘a]gr{nlc oplion,

90, (1, :
hanpe (e following sentences into

enorted : .
ported Specch hy choosing the
correct option -

Wcrc waiting for the school bus
said the children, “It's late again.”

(1) The children told they're waiting
for the school bus and it is latc.

(2) The children said they Were
waiting for the school bus and 1t
is late,

(3) The children complained that

N, they were waiting for the school
bus and it was latc again.

(4) The children complained that
they were waiting for the school
bus and it is late.

Select the correct meaning of the

underlined phrasal verbs :

[ cannot make out the meaning of

this verse.

(1) discovery

(3) reading

"(?.) understand
(4) start

Choose the correct form of tense
given in the option :

She (play) the sitar sirce 6 o'clock
this morning.f ¢ just (stop).

(1) playing. stops

(2) was played, stopping

(3) has been
stopped

playing, has just
(4) have been playing, stopped

P.T. 0.
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53, Change the following sentences into 57. Choosc the correct option :

S

Reported Speech by choosing  the

correct option.

“If you want 10 smoke you'll have to

go upstairs.” said the landlord,

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) The jandlord told him that if he
wanted to smoke he would have
o go upstairs.

(3) The landlord said that if he
would want to smoke he would
g0 upslairs.

(4) The Jandicrd says if you wanted
to smoke you would have to go
upstairs.

Select the correct preposition to fill

in the blank :

[{c broke the jug ... a hundred
picces.

(1) in (2) into

(3) over (4) about

Choose the correct meaning ol the
underlined idiom :

Ie is friendly to the minister. he
jumped the queue and got promotion.
(1) rcbliacc something

(2) hopping

(3) blame somebody

~(4) get something out of turn

6. Choose the option which has error in

i

(A) You should
~(B) tell to me
(C) exactly what

|

Transformation of sentences : Sim,
to Compound =
He must work hard to make up
the lost time. '
(1) He must work hard, cover g
lost time. |
(2) Making up for the lost time
must work hard. !
(3) He must work hard and make
for the lost tinte.
Working hard will make up |
the lost time.

Selecet the correct conjunctions f
the blanks :
We will come ... it rains ...
nol. —
(1) if. and (2) cven, but
~(3) whether. or (4) either, and
Choose one word substitution fort
following :
A word spelt and pronounced simil
but differing in meaning.
(1) Antonym (2) Homonym
(3) Synonym  ~(#) Pscudonym
Choose the correct option :
Transformation from Simg
sentence to Complex sentence
A lost moment is lost forever.
(1) A moment which is lost 15l
forever.
(2) A lost moment is forever lost
(3) Forever a lost moment is lost

et

(D) happened there
(nH A Q) B ) No R
(3) C 4) D J4) No moment is lost forever.

Level-3/321
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pirection : Answer the follow; ‘ Y + K. & AWARENESS)
m-‘\“ﬂg\c{tﬂ"iﬁoﬂs by ¢ afaﬂ/‘?"ﬁ'ﬁf gf;}q, B
'B'L ll‘ l 1.‘ I' 0] l. 0 ()l l q:)T I\\-\?@Cﬂr_]_gj_lle most ﬂppropr[a{c opuon.'_ﬂ i — e
aodmy e e ol
1) 0.011 7| e Whatis the picr of 1. 101
it (2) 1.1 00117
(3) 0.1l 4) 0,11 (oot (2 (')-:H
3) 0.11 v (4) O
e2. B T F o . ( - ircle
CERE aﬂ‘ SR @E:T[ Gﬁ-{ ' 3 62. The ratio of the arcas of t c\:v?l(l:'l;; ;
' and circumcircle of a square
(1) 1:4 ) 4 4
2 (1) 1:4 (2) 4
Qi-@a-l- 5 . gjven
&2 ;gaﬁi ™ Cﬂ&ﬂ g 8 63. Find the missing letters in [hf &
' letter series :
‘ —_— _ ceddd
- a-— cdaab — cc —daa - bbb —ceddd a —cda_ab —cc _f[a([ _ bbb —cC
(1) bdbda (2) bddea (1) bdbda E‘i)) ZZZ;;’
{ 3) dbbea (4) bbdac (3) dbbea ‘ .
( T The numbers in the following q.llCSI‘O"
g4. frmrad ue H dEA FREl M B4, The number i Chen according 10
Yo @ dfeREr

(1) 18 (2) 16
(3) 12 (4) 10 :
65, @y sjEan @ I A BT

127, 128, 136 163, 227, -re

(1) 352 (2) 350

(3) 357 (4) 341

Level-3/321
et

" n-
certain pattern Tow-wisc OF co(}uxtl:nd
wise, Identify the pattern an -
the missing character accordingly :

.’(2) 16
(4) 10

()8
(3) 12

Find the next term of the number

T Ly
serigp< S
1277128, 136, 103,227, ...

(352° XR) 350
(3) 357 (4) 341

P.T.O.
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67. 5t Miea g & MONKEY @

XDIMNL far @ig, @ TIGER &
¥ fvar s ?
(1) SDFHS
(3) QDFHS

(2) SHIDQ
(4) UILFS

aeRd o o A e & o
mﬁ'aseﬁ%eﬂrﬁﬂrwwﬁaﬁﬁ
178 & af% 3 oTg w SieT-aed &
3 Rrew A § 14% = w8 S
%ndﬁﬁﬁqﬁmmﬁ%?
(1) 27 (2) 29

(3) 32 (4) 30

g 1988 F 15 SFTE AR P A
T e, @ g 1989 # R T A
™ ar ?
(1) qHEr
(3) oAl

(2) HaAR
(4) HAT

1. o fedd Fafded Yed d 9 * 3 = 36,

10*6=64,9*'1-——25.€r:¥é’tﬁﬁ

q¥ 23 * 3 %1 W 1 e
(1) 169 (2) 52
(3) 32 (4) 576
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five different houses A
A is to the right of B .
1 of C and right of A
of D. Which of ;|
in the middle ?

(2) B

66, 1here are
[ in  TOW.

I is to the et
is to the right
house is exactly

(B, A
3) D (4) E
67. In a certain  code MONKEY
o written as NDJMNL. How is TIGIx
written in that code ?
(1) SDFHS (2) SHFDQ
(3) QDFHS ~4) UJHES
68. Vija); walks 10 km towards Ngnh
from there, he walks 6 km _towar¢
South. then he walks 3 km lm\'agi
East. How far and in which dircctio
is he with reference to his startin,
paint ?
(1) 5 km West (2) Skm North-l:as

\Q) 7 km East  (4) 7 km West

69. In arow of girls, Shilpa is 8th fror
the left and Reena is 17th from th
right, if they interchange thei
positions. Shilpa becomes 14th fror
the_left. How many girls are there I
arow ? s,
(1) 27 (2) 29
(3) 32 S 30

70. If the Independence Day in 1988 w2
celebrated on_Wednesday. On whi
day was it celebrated in the year 1989°
(1) Monday (2) Tucs?ﬁy

\{QQ_ Thursday  (4) Friday
1 = 3[.

71. In a certain pattern, it 9 * 3
10 * 6 =64, 9 * | =25, then in sam
pattern what is the value of23 %3’
(1) 169 N (2) 52
(3) 32 (4) 576
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!

75. ¥ 10,000 T%gE &N & T ¥ 5 qf
ﬁgﬁ%%@r__aﬁ%,ﬁrzoaﬁqﬁq
T TS AW B WA T
fefeeTT 2t ST ? :
(1) T40,000  (2) % 60,000
(3) 80,000 (41N 1,60,000

76. AJ B 5 10% a9 & 99 & X B
T E CALI% aF & 3= & R C A

Fve 9L @ g < 990 TEA &, & SR A
RS Ll ER
T (1) T900 (2) ¥1,000
®) T1,200  (4) 3950 e
77. fRel @@ @ 20% 9g ST &
N aamargﬁ@ wﬁ?ﬁw GRS ST
¥ foeR g 1 #A R 4T
v @ A g g AL

2
(1) 16%% (2) 155%

1o
(4) 163

(3) 17%%

Level-3/321
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if"

Il A means 'plus’, B means 'minus’,
C means 'divide by, D means
'multiply’.  Then what will be
simplified value of
BAI12C6D2BS5 =7

(1) 25 (2) 27

(3) 15 4) 17

23. If 7 carpenters can make 7 chairs in
8 hours, how many hours will 70
carpenters take to make 70 chairs ?
(1) 8 hours (2) 560 hours

(3) 56 hours (4) 70 hours

74. Which number must be added to
each term of the ratio 2 : 5, so that it
may cqualto 5:67?
() 12 (2) 11
(3) 13 (4) 14

75. A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :
(1) ¥40,000 (2) ¥ 60,000
(3) T 80,000 (4) ¥ 1.,60,000

76. A sold awatch to B at a gain of 10%
and B sold it to C at a loss of 10%. If
C paid ¥ 990 for iL. then how much
amount paid by A ?
(1) 900 (2) T 1,000
(3) T 1,200 (4) T 950

71. The price of any item is increased by
20%. Find the reduction in the
consumption of the item by a
consumer so that there is no increase
on his expenditure ;

2 2
() 165% (2) ISE%
2
3 173% @) 16.;-%
P.T. O,
R A o N A Apcigit

. oA DO N
Sdpia i 2

.
ffte »
B o o
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18, 22l a0
(1) 0 ) 2
™N3) 1 Sy 2
19, 2 WWRA 132 Hew w108 WX
T TR A R R A o1 @
¢ e @ @ oaw 32 fEeT

T gl @ a0 Refvoe ¥ R
A Y e A IR A ?

(2) 10 Fo
(4) 11 o
80. 0.3467+0.1333 A BF1 :
. (1) 0.48 N(2) 0.4801
'-% (3) 048 (4) 048

8l. Fr=fwfea efaem & wogow # R
g Fee 18 W Ted g g ¢

/"‘m:\ (1) do THo Twaa
T (2) TS i e

!. A ".".' (3) %o qao B-[Qﬁ

/, (4) G THo THo &

! garn § waifaa faw asveieife
! _g-gr_ H @ safafad ¥ W%Tw“%a
—

(1) ST — S ST &5
) WE - far ey &
(3)_ sl — Arfoa s &
(4) HHE — e Fag &
-
Level-3/321
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What is the value of 2J2J§ 242 -

() 0 (2) 2
3 1 (4) 231/3?.

Two trains 132 melers and . 10g
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 4(
km/hr. In what time will they cCross
each other ?
(1) 8scc.

(3) 12 sec.

(2) 10 sec.
(4) 11 sec.
0.3467 +0.1333 is equal to :
(1) 0.48 (2) 04801 .
(3) 048 (4) 0.48

81. Who among the following Governor:

of Haryana died while in the office ?
(1) B. N. Chakraborty

(2) Ranjit Singh Narula

(3) J. L. Hathi

(4) Sardar H. S. Brar

82. Which of the following is met truc

about the proposed investment region
industrial area under Delhi-Mumba!
industrial corridor in Haryana ?

(1) Faridabad - Palwal Industrial

area
(2) Rewari — Hisar investment
region
(3) Kundl - Sonipat investment
region
(4) Manesar — Bawal investment
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St ot o B

(1) s P gem
42) SReH To o Fd
(3) SEH THo THo o
(4) vieE @ W B

2021 ¥ S T W T E
(1) 04 {2) 06
(3) 08 C(4) 19
86, TRATT @i dd AN A R T
FA & aX i affe IR e
TG F
N1) T
(2) T
(3) GO
(4) Tog faae /4
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3, 'Pran Vayu Devata Pension Scheme

is aimed to

(1) Conscrve older trees in Haryana
State

(2) Provide financial assistance l'o
the non-government doctors 1n
their old age

(3) Provide economic reliel to .thc
non-government paramedical
staff in their old age

(4) Encourage plantation of Tulsi
and Giloya it urban houscholds

g4. Who among the following did not

serve as the Chief Justice of the
Punjab and Haryana High Court ?

(1) Justice Mukund Mudgal
(2) Justice A. K. Sikri
(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

85. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06

(3) 08 4) 19

86. The Haryana  Public Service

Commission presents its annual
report of the work done by the

—_—

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

P.T.O.
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(D)

o1, Frafafe % Q@ &g 202 o WA
sy’ urarat ¥ 2

(1) 78 ST Mg
(M i fie

(3) aval fig
(4) gf?m fim

o B

(1) Yo @ Sramps, e &ra
N2) TR il swRd zmw

73) e e s a

(4) wfEmn s s @

89, F=fefed & & oy =8 = wgm

A oI ® 7
T T
) mEd - s ,
NED - A H R
(3).aFvE  — firafes @ et
(4) TR — A F T

90. T/ #l fafeq b, frad/fmd

(i) =dafa
(i) a9 =M F =1 g
(i) Ty
(iv)%‘i}f 7]
78 T H T T
(1) %4 (i)
(2) (i) 37 (ii)
(3) (i), (ii) 3 (iii)
(@) (i), (i), (i) AR (iv)

Jefonn. witw oy oy PR

(18]

81,

Level-3/321

 T—wewe——

Who among the following is
recipient of 'Padma Bhushan’in 207, ,
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh

Monthly magazine 'Hariprabha'

published by :

(1) Information and Public Relation,
Department

(2) Haryana Sahitya Academy

(3) Haryana Sanskrit Academy

(4) Haryana Hindi Granth Academy

89. Origin of the which of the following

rivers is not correctly matched ?

River Origin Site
(1) Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

90. Identify the text/texts, in which the

reference of Thanesaris found :
(i) Harshcharit _
(i1) Travelogue of Yuvan Chang
(iii) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (i) and (ii)

(3) (i), (i1) and (iii)

(4) (1), (11), (1i) and (iv)
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[19]
W - IV (PART - IV)
F WEH (COMPUTER SCIENCE)
ﬁ%sr ﬁwﬁ@amﬁ%mﬁ#ﬁvmaﬁaﬁwgﬁm

Direction : Answer the Jollowing questions by selecting the most appropriate oplion.

9l. ﬁqﬁﬁaﬁﬂwmmﬁ%ﬁm

(D]

91. A generic [unction can be created
SR T T ¥ using the following :
(1) TR (1) Inheritance
(2) 3@ wifen (2) Data hiding
(3) UrelwiiEe ~(3) Polymorphism
(4)\%“1%3 (4) Template
92. N =TT e W A F  fiw 92. You can use ........ to  copy
...... AN U T § W & selected text and .......... to paste it
f ... T TTAM F THA ol into a document.
(1) FgE + H, Fge + 4 N(1) CTRL +C, CTRL + V
(2) Fg + &, B + @

(2) CTRL +C, CTRL. 4+ P
(3) CTRL + S.CTRL + S
(4) SHIFT+ C.ALT + P

(3) T + T, Fg@ + UH
(4) B + @, offe + @
93, M@ 473 & fou 96 Hey

: 93. The BCD number for decimal 473
e 7 i

18
(1) 111011010 (1) 111011010
(2) 110001110011

(2) 110001110011
(3) 010001110011 N(3) 010001110011
(4) 10011110011

(4) 10011110011
94, (539), F ToTeoHd § I 4 94

94. What is representation of (\39)H, in
2 hexadecimal ?
(1) ABE (2) CDB (1) ABE (2) CDB
(3) DES (4) 21B (3) DES ~(4) 21B
95. d9 W SN @ T T H 95. Specialized programs that  assist
e Wﬁﬂi&ﬁ # GEE FH A users in locating information on the
R QT ... T € Web are called -.......
: (1) Locator engines
(1) W ?QGF{ (2) Web browsers
(2) 39 ST ~(3) Resource locators
3) gﬁit(il(i Tl (4) Scarch engines
) ESE ‘
(4) P.T. O,
Level-3/321
,,.’-—/—-_‘,—-"# — ', o e

o o e o
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o6, [r=fafian Cov el gr fare w7
int v,

& y oy
%ﬂ# y = 25: \
P 0 ‘ﬂ AT
(hy- ?—5.,\
(2) ¥y~ 25.x~ 80
(3) y=25.x 30
(‘” A 80, x = R0)

L U T & R BRI
Brar B =
(1) 0
(2) 1
(3) T % ==
(4) =W % faui

_WoWoWﬁrsm+F5
5TE F2 ol Hll HgF B -

1)%%@33%@3@%9???4@
FH & foe

(2) 9 ®MEE | WEE WesE g
FH % fau

(3) I W WS I A dT
% fom

(4) T BU LS He9 § v wige
T S5 % fog

--------

""\ | ?() X G?l’
25

o
Ima

------------

99.

----------

Level-3/321
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96,

91.

—98.

Consider  the  following
statements ;

int x;

inté& y = x;

The statement : y=25;,x=2*
updates the value of x and y as :
(1) y=25.x=25

(2) y=25.x= 80

(3) y=25.x= 30
~4) y=80.x=80

The comp[c_mcnl ol"comp]cmcm of ;
varlablc is alw ays
NI o

(2) 1

(3) Equal to variable

(4) The inverse of the variable

----------

In M. S. PowerPoint short- -cut ke
shift + F5 is used to
\(]) Start a slide show from th,
current slide
(2) Start the slide show from the i':rsx
shde
(3)_xClosc the slide show

(4) Go back to first slide during
running slide show

On clickingona ....... , opens another
document/webpage.

(1) Anchor N2) Hyperlink

(3) Reference  (4) E-mail

.......... is used by banking industry
for pre printing of characters on the
cheque.

(1) MICR

\2) OCR

W3) Bar Code Reader
(4) None of these

i
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(21) (D]
1o FERTEE A} BRw g @ o | e

£ : | 101, Which of the following is nof enc o}

1 TR W Ay | Fxcel's whatuif function 7

l) ﬁa ’@Fﬁ | -Xcel's what-1 function

[ . | (1) Goal Seek

o AR o ¥ owm B ow
T 8 ?
(1) 99 T &
Q) 3 ¥
(3) g F
(4) ¥®
103, U UX & 9= Teaade § ¢
float height|[30]:
(1) height[0] ¥ % W T =
=R L S
(2) height W % UBd T 3 dafig
YT B
(3) height{0 + 1] W@ 3 Ten &= =
el HE! B
(4) height[1] T % T T4 =
TN F Bl
104. (} & 9K 9mg @ 9C &
frfaiEs =Y e §
(1) E5d @O (2) 9% @&
(3) TG @Y (4) THEA
w T ¥ e omeege [Fw @
T & ¢

(1) LA
(2) &
(3) & & D

(4) ©
Level-3/321

i
}
'n
. t bits can also be used for:
l
|
l
|

(2) Solver Add-in
X3) Scenanios
(4) Auto Outline

In C—. << operator used for shifting

(1) Displaying values
(2) Addition
¥(3) Increment
(4) Decrement

;
Il 103. In the given declaration of an array :
| float height[30]:
}. (1) height[0] refers to first element
ll of array.
1 v (2) height refers to first element of
\ array.
Y(3) height[0 = 1] refers to first element
of array.
(4) height[!] refers 1o first element
of array.
104. A variable declared within
block{} has the following scope :
(1) File Scope  (2) Local Scope
X3) Class Scope (4) Global Scope

|
\
\ the

10S.

How many output signals can a gate
have ?

(1) Zero

(2) Two

(3) More than two

M4 One
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106, U Y A U § gty D
(1) NPT e
(2) www

(3) i G i am
(1) T A

107, FEETH T 9 R g, wera, o
W AR G Y .

MHT®WT () ¥
WA ) Py

108, FH TARE 7 KRy A 5
RS @ 4 & w0yl

fom g & ?

(1) wEs qiex
(2) WS ¢
(3) WEE AR
(4) AiEg T

(1) ET3UT TRT HIHSTT v

. Y

\| HWwad Qwwdd
}W (3) e (4) T8 q T el
i Level-3/321

f«".*%
S
|

SR Y
._')}.":-.-
b
x'
SR
2

e
¥any
%;\,
e

I

[22)

106, A URI, contains :
(1) Protocol identifier
(2) www
(3) Unique registered domain nar,
N4) All of these

107, Part of computer which does additi,
subtraction, multiplication. divisjy
and comparison is :

\(1) ALU (2) Memory

(3) CPU (4) Control

108. Which PowerPoint view display
each slide of the presentation as 2
thumbnail and is
rearranging slides ?
(1) Slide Sorter

%(2) Slide Show
~(3) Slide Master

(4) Notes Page

useful  for

109. Code of webpage is written by
using ......... :
\(1) Hyper text markup language
(2) 5th generation language
(3) Winzip

(4) Perl

110. Excel workbook 1is a collection
of:
(1) Chart (2) Wordbook

\(3) Worksheet (4) Page

111. The protocol which provides ¢-mail
facility is :
(1) FTP W) SMTP
(3) TELNET  (4) None of these

Scanned with CamScanner
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112, MS-Excel ¥ countif A F
e R e R e o 3
(1) @ & % 3 & a3
WA E R o
(B@iﬁﬁ%aaﬁ(%ﬁ%m
Eilei '
& ® Y W& T w3
T
4) @ & § R e
i
113. TRE 'dn AT 'coul' IEYTFH TGN
T T W 6
(1) 9% & 9
(2) FoEs &
(3) T & 99
(4) T § @ T

L4, dEd T & FE
(1) VLSI @ STF W a5 T
q

L

(2) s IR T W AR AW
T W IER FE A9
T 4

(3) T T & T g A

...........

e i e PP

[D]
112. Countif function in MS-Excel is
exactly used to ;

{1) count cells in a range that meet a
given condition

(2) count the number of cells in a
range that are blank

(3) count number of cells in a range

(4) count number of rows in a range

113.

_—

The functions 'cin' and 'cout’ resolve
the necessary conversions at :
(1) Compile time
N\(2) Execution time
(3) Linking time
(4) None of these

114. The third generation computers :

(1) Were the first computers 10 use
VLSI

(2) Were the first computers to use
built-in error detecting devices

™3) Used transistors
vaccum tubes

instead of

(4) Were the first computers to use
* integrated circuits

115.

........... transform the information

from binary form t0 human

acceptable form.

(1) Output interfaces
N (2) Processor

(3) Input interfaces

(4) None of these

P.T.O.

B B
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116.

118,

&
g

T L,

Which (,pmm 1s correct to Cnter l

9
charts in MS-I* ixeel .,
(1) Formulas =~ Charts ;

gt

(2) Data>> Charts
3) Insert menu >> Charts
(4) View >> Charts

The part of the CPU that coordinatg,
all the functionality of the comput
and other components :

(1) Motherboard

(2) ALU

(3) Control Unit

~\(4) (1)and (3)

used for :
(1) Sharing the document
N2) Heading 1 style
(3) Bold the Content
(4) Bold the Heading

119. In C file handling equivalent to
scanf("%d",&val): is : |

(1) fscanf{stdin, "%d", &val);
N(2) fprintf(stdout, "value=2d\n",
(3) scanf{value)

(4) 'scant()

val)

120. The basic architecture of computers
was developed by :

(1) Jon Von Neuman

(2) Blaise Pascal

(3) Garden Moore

M4) Charles Babbage

1N, CPU 1 95 9 & e 3l 3
v @ Wl Frhpm @& ey
e
(1) &
Q) Uy
(3) = g
(4) ()8R (3)
118. THo UHo @8 ¥ CTRL + ALT + 1 &
fere s fomm TR
(1) Shgie At 3 fomg
(2) 3T 1 =B & fw
(3) & e F B fow
(4) T 9= T 3 R ,
119. C Frzq gsfoim & scanf("%d", &val)
% qH ¢
(1) fscanf(stdin, "%d" &val);
(2) fprintf{stdout, "value=%d\n", val)
(3) scanf{value)
(4) scanf{)
120. FRRT @GR @ e am
fofea &t T 7 7
(1) 59 49 o
(2) = TR
(3) T
(4) =l 9
Level-3/321
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ot 2 e
el T % 2 m%’ﬁﬁ%
(1) FFETw
(2) @ T
L (3) T
(4) T W
122. TRICH C+ T & Py
g ¥ ® i
| (1) T T

(2) TS F T TP F
(3) Fereereeierer
(4) weh e W §

123, qEEE AEd A I G oy
forgit orasTES H AN 3 Ry
e & Y T AT M &R 7

(1) Raamatie it

(2) T§ X T8

(3) g

(4) FeT g

124, UREEE @ A GAw e-diE N

o JeRfa R B, 9 §

(1) & &

(2) Aigq W G

(3) TS WX

=
i
8

) e g ()

3) I

(4) aj-gq_aﬂ W (‘ﬂﬁa)
Level-3/321

Z"-‘-“ ,;.J-"‘"')‘
s ﬁ g

W.—-—- o b —n‘*"

1
2L Inq stack, if a user tri

an element from an empty StACX:
called :

1) Underflow
(2) Empty collection
(3) Overflow
(4) Garbage collection

Inheritance allows the following in -
C++ program :

(1) Class Re-usability

(2) Creating a hierarchy of classes
(3) Extendibility

"\(4) All options are correct

et
o
(a4

:

123. Which is the step in waterfall model
that involves a meeting with the
customer  to  understand the
requirements ? ]

(1) Requirement Gathering ‘
(2) SRS 1
(3) Implementation !
(4) Customer review

124. The PowerPoint view that displays
only text-title and bullets s
(1) Outline view
(2) Notes page view
(3) Slide sorter
\(4) Slide show

125. Which is not the right approach of
incremental testing approach ?
(1) Big bang approach
\(2) Top-down approach
(3) Functional incrimination
(4) Bottom-up approach

P.T.O.
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(2) =1 S i

(3) ®=Y

(4) e w

MR % ¥ BN MS-Excel
T A W @E P 7

(1) A20 (2) B:15

(3) D6 (4) 10H

U5 UMM Hwedqy goitmafer siea
Hied T & e Freafeiag whfig
P YeFaRg B

(a) HAfsfem

(b) @i

ORESIPE

(d) PR

(¢) g
(1) a,b,c,d,e (2) b,c,e,a,d
(4) a,e.d, b, c
Frefafed & § 99 @ W ©ife
G TE 8 ?
(1) FeE

(3) 99

(2) T
(4) ¥

Level-3/321

[26)

126, SOQI, Views are also known as ;
(1) Simple Tables
\(2) Virtual Tables
(3) Complex Tables
(4) Actual Tables

Which of the following provides g,

e o et

ability to query information from th
database and insert tuples into, deley, |
tuples from, and modify tuples in th |
databasc ? |
\(I) DML (Data
Language) |
(2) DDL. (Data Delinition Language) |
(3) Query
(4) Relational Schema

Manipulatiop

128, Which among the following is g

valid cell address in MS-Ixcel 2
(1) A20 (2) B:15
N\(3) D6 (4) 1011

Arrange the following activitics 1o
form a general software enginecring
process model : o
~a) Modelling |
~{b) Planning | |
(¢) Deployment
(d) Construction |
(e) Communication
(1) a,b.c,d, e (ﬁ\lq, c.coad
(B)ebadec @) a e d b, ¢

Which of the following is por
aggregate function ?

(1) COUNT  x2) coMpuUTE
(3) SUM (4) MAX

—

29,

=

a valid
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vit: |
_m“ e X 3 oy e A T
A § w & o) o AW ?
(1) 3R orpm G B
(2) Roomr-amafa 2T
(3) g g AT
M)mﬂwﬁ%m‘\éaﬁ
&c++ﬁmmmﬁm
m%mm?ﬂ*ﬂmm
S e !
(1) &
) @
3) S
((4) ﬁ@liﬁﬁﬂﬁ
\ B i (e e
/ lﬁﬁqﬁlﬁﬁﬁﬁﬁiﬂ%mﬁﬁm@l
7
(1) &
() o (3)
(3) 4 (Fer)
) T (FE)
M@ﬁmmﬂmm
el & ¢
(1) foee 2) [

(3) T (4) 99
&C++-§ﬁﬁﬁﬁﬁfﬁ1ﬁﬂﬁ%®ﬂw
@ o SR & 7
(1) . @) *

(3) 4) ~
136. aﬂaﬁ@ﬁ%@ﬁrﬂﬁ@@?
T aqﬁrﬁzzﬁmm@w

) 8 S o g T @

maﬁaﬂﬁﬁfﬂm%mm

— A o

(1) @£

3) & Ol
Level-3/321

lZ'{l

4 ,:f-"“:‘_
'l&{\,,—',;
b
-13‘1_l 5

Whic '
as:)lt‘::“:\af the l‘n}lmwing ‘Cf“m% N
(hE VI as white-box testing -
1 I,)rem'r guessing technique
\(3) : sign based testing

1lass box lesting
(4) None of the above

1.3_2_. Which symbol should be uscd lg,
pass the object by referenc® inC**

1) &
2 @
(3) S
(4) None of the above

133. A functional dependen®
relationship between Of among -

is

(1) Tables
(2) Rows

(3) Relations
~(4) Attributes

134, Process of inserting an element 1N

stack is called :
(1) Create
3) Evaluation

N(2) Push
(4) Pop
135, Which of the following is the scop¢
" resolution operator in C+* language ?
(1 . 2)*
wn3) @& -
136. A linear list of elements
dcletion can be done from on¢ end

(frorﬁs- and insertion can take place
only at the other end (rear), is known

in which

(2) Stack
(4) Linked list
P.T.O.

as
m Queue
(3) Tree

" TTmusoooklet)
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= Y {hat has no partial
137, @ B el @ orifiie iﬁ[’ﬂfmﬁ 137. A function td i BT s
b 787 R & i e functional depende
..... form.
(1) 4NF N(1) 4NF
(2) 2NF | (2) 2NE
(3) 3NF (3) 3NF
(1) SE & | P T (4) Nonc of the above
138, MS-Office § AR W I fHT 138. In MS-Office which can be used for
T g e AR T @i quick access to commonly used
‘JE?I & Rore Reeer s foman ST @eRdT commands and tools ?
27
() Reg aX  (2) & X ~ (1) Status bar  (2) Tool bar
(3) 7 a) (4) TEed &R N3) Menubar  (4) Title bar
139, Prifag § § 89 & & @ FAs 139. Which of the following is not 2 DDL
7ET B 7 command ?
(1) g@,‘{ (2) 3TceX (1) TRUNCATE (2) ALTER
(3) frge (4) oTI=T " ™3) CREATE  (4) UPDATE
140. 3 FHH-1 T ¢ g ot gea @ 140. In which stage individual components
wHiga e ST & of gifeEa are integrated and ensured that they
m 5 7 ared @ aarasqzrcrraﬁ e are error free to meet customer
T FA & T g gH) g7 requirements 7
(1) ST (2) heEq (1) Coding X2) Testing
(3) feumz 4 TR e (3) Design (4) Implementation
141, FFGR § R AT AR =T 141. What is used to input text and
ST F & [0 fhge Iwdn f numerical data in a computer ?
p
S & 7 —
(1) Feiged (@R (1) Keyboard
(2) BT (2) Scanner
(3) X (3) Printer
(4) wiieX (4) Plotter
142, @ ........... Eal H B 142. A queuc follows ...........
(1) we (F & wE e fFEm 4 (1) FIFO (First In First ()ul) principle
(2) GiLal (GTF:' Sl e G?K)'E) forar N(2) LIFO (Last In First Out) principle
(3) SR W (3) Ordered array
(4) a® # (4) Linear tree
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143, ?{g\jﬁ\t q'%ﬁ‘ Rowe & e & m
\%:\' \rgm ﬁ éﬂ:ﬂﬂ N wd D e 8
e ?\ T N A P s fn
(1) w1t Wiyt A

M AR

() Roma @i

(1) Srer SR Sl

144, MS-Word ¥ e WRH 0 v ?

(1) MR A R W an wot
N A1 S O

Q) TR @ B wW T gt
it A Ser S

o Wi @ R wa 9w
Ry @ a0 g

(.urnfshswzmww%

Wmﬁmwmm
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143, Which of the following is gcncrnliy
used  for  performing (asks like
creating the structure of the relations:
deleting relation ? _
(1) bML (Data Manipulation

[Language)
(2) Query
3) Relational Schema
x(4) DI (Data Definition o

144, In MS-Word what is gutter marf:’s'.“l a
(1 Margin that is added 10 the 1€
" margin when printing i
(2) Margin that is added 1© the Mg

margin when printing ]
~(3) Margin that is added 10 _lh"
binding side of page when printing

(4) Margin that is added 10 'thc

outside of the page when printing

145, What 18 meant Y multipl¢
inheritance ?

(1) Deriving @ bas
derived class

(2) Deriving a derive
basc class

~(3) Deriving a deri
X" more than onc basc¢ class

(4) None of the mentioned

146, Which of the following is true aboul
the HAVING clausc ?

(1) Similarto the WHERE clause but
is used for columns rather than
groups.

(2) Similar to WHERE clause but is
used for rows rather than

Langud ge)

e class from
d class from

ved class from

columns.
(3) Similar to WHERE clause but is
used for groups rather than rows.

) Acts exactly like a WHERE
clause.
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() ARCD () DCBA
() DCAB () ABDC

188, §F W MSAccess [0 FRA
SRR SRR MS-Access BISH
37:@?«;‘%%‘6{%@1}‘%@%,33
T T L 7
(1) 3T=F B2
M) =R
) I::* 8 “—;I?«S\l
) ESENK
(1) &= 76 T §RA
(2) INF
(3) 2NF
() 3NF
() T FEFX o STAral S1gal

FRlT 3 B

(2) F FgFel @ Ha olfeige @
el o e & WA O A
$ T ORH FH

(3) & FEFT I8 a4Y @ fou
3ifeiTed ST & a1 el

(4) T Fgaey o Bl Ru olfsige
3 o ufat & feelie & B
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If the elements AL 'Chand D are
the ¢le ' o
queue and are deleted one

in what order will these

_l"?|
pluucd ina
at a nme,

be ,-mnm'cd ? .

(2) DCBA

(4) ABDC

The command center of MS-Access
ou create or

clements
™) ABCD
(3) DCAB

—
Lo

file that appears when'y ate.
uia-én the MS-Access database file, 1s
called :
J(1) Database Window
(2) Query Window
{3) Design View W indow
\(4) Switchboard

149. If one attribute is determinant of
- second. which in turn is determinant
of third. then the relation cannot be :
~(1) Well-structured
(2) INF
(3) 2NF
(+H) 3NF

150. What is a copy constructor ?
(1) A constructor that allows a user
1, to move data from one object to

another.

\\(2) A constructor to initialize an
object with the values of another
object.

iS).A constructor to check whether
- objects are equal or not.

{4):A constructor to dclete other
- copies of a given object.
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